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on 24 Jan 2018" Morning Shift (General Awareness)

QID : 451 - Which of the following is an indicator of the financial health of a country?
Options:

1) GDP

2) Inflation Index

3) Wholesale Index

4) No option is correct.
Correct Answer: GDP

QID : 452 - When workers move from one job to another job is known as:

Options:
1) Seasonal Unemployment
2) Frictional Unemployment

3) Classical Unemployment

4) Voluntary Unemployement

Correct Answer: Frictional Unemployment

QID : 453 - Who is most benefited from inflation?
Options:

1) Creditor
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2) Business Man

3) Debtor

4) None of these
Correct Answer: Debtor

QID : 454 - Which Committee's recommendations are being followed for estimating
Poverty Line in India?

Options:

1) Kelkar Committee

2) Desai Committee

3) Tendulkar Committee

4) Lakdawala Committee
Correct Answer: Lakdawala Committee

QID : 455 - When was the decimal system of currency introduced in India?
Options:
1) 1947

2) 1952
3) 1950

4) 1957
Correct Answer: 1957

QID : 456 - Who was the first woman to be nominated as the member of Rajya Sabha?
Options:

1) Rajkumari Amrit Kaur

2) Sucheta Kriplani

3) Rukmini Devi Arundale

4) Kamaladevi Chattopadhyay

Correct Answer: Rukmini Devi Arundale

QID : 457 - Which of the following is Human Right under Universal Declaration of
Human Rights?

Options:

1) Right to Education
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2) Right to food

3) Right to equal access to public services
4) All options are correct.

Correct Answer: All options are correct.

QID : 458 - Who was not a member of the Constituent Assembly?
Options:

1) Mahatma Gandhi

2) Dr Rajendra Prasad

3) Sardar Patel

4) G V Mavalankar

Correct Answer: Mahatma Gandhi

QID : 459 - Which of the following describes India as a Secular State?
Options:

1) Directive Principles

2) Preamble

3) Union List

4) State List

Correct Answer: Preamble

QID : 460 - In India, the concept of single citizenship is adopted from which of the
following countries?

Options:

1) Ireland

2) Australia

3) Japan

4) England

Correct Answer: England

QID : 461 - Who was the founder of Nanda Dynasty?
Options:

1) Dhana Nanda

2) Mahendra

3) Mahapadma Nand

4) Gaja Nanda
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Correct Answer: Mahapadma Nand

QID : 462 - The Greek ambassador Megasthenese was in the court of which of the
following rulers?

Options:

1) Ashoka

2) Chandragupta

3) Bindusara

4) Chanakya

Correct Answer: Chandragupta

QID : 463 - The Persian translation of “Mahabharata” done in Mughal period is known
by which name?

Options:

1) Rekhta

2) Risala-e-Hag Nama

3) Razmnama

4) Safinat-ul-Auliya

Correct Answer: Razmnama

QID : 464 - In which year did Khudiram Bose tried to assassinate Kingsford in
Muzaffarpur?

Options:

1) 1904 AD

2) 1906 AD

3) 1908 AD

4) 1910 AD

Correct Answer: 1908 AD

QID : 465 - Who was the first Indian to be elected as a member of the British House of
Commons?

Options:

1) S N Bose

2) Motilal Nehru

3) Dadabhai Naoroji

4) Mangal Pandey
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Correct Answer: Dadabhai Naoroji

QID : 466 - Which of the following is known as 'Island of Pearls'?
Options:

1) Japan

2) Maldives

3) Israel

4) Bahrain

Correct Answer: Bahrain

QID : 467 - "Oder-Neisse Line" is a boundary between which of the following countries?
Options:

1) Israel and Philistines

2) Germany and Poland

3) China and Vietnam

4) Mexico and USA

Correct Answer: Germany and Poland

QID : 468 - Which imaginary line, located at zero degree latitude, divides the earth into
northern and southern hemispheres?

Options:

1) Tropic of Capricorn

2) Tropic of Cancer

3) Equator

4) None of these

Correct Answer: Equator

QID : 469 - Nathpa Jhakri hydel power project is located on which of the following
rivers?

Options:

1) Sutlej

2) Jhelam

3) Chenab

4) Padma

Correct Answer: Sutlej
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QID : 470 - Which of the following ports is the first port that was developed after
independence in Gujrat State?

Options:

1) Mundra

2) Kandla

3) Hazira

4) Bhavnagar

Correct Answer: Kandla

QID : 471 - Which of the following states covered in Namami Gange Programme?
Options:

1) Uttar Pradesh

2) West Bengal

3) Jharkhand

4) All options are correct.

Correct Answer: All options are correct.

QID : 472 - Which of the following is a centrally sponsored scheme to empower
adolescent boys?

Options:

1) AKSHAY

2) SAKSHAM

3) SABLA

4) UJJWALA

Correct Answer: SAKSHAM

QID : 473 - Where will be held Kumbh Mela-20187?
Options:

1) Ujjain

2) Haridwar

3) Nasik

4) Allahabad

Correct Answer: Allahabad

QID : 474 - Who won the World Rapid Chess Championship 20177
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Options:

1) Vladimir Fedoseev

2) Vishwanathan Anand

3) Ju Wenjun

4) Padmini Rout

Correct Answer: Vishwanathan Anand

QID : 475 - As per on 27 December, 2017, which Indian Cricketer has recorded
maximum sixes in International Oneday Cricket?

Options:

1) M S Dhoni

2) Rohit Sharma

3) Sachin Tendulkar

4) Sourav Ganguly

Correct Answer: M S Dhoni

QID : 476 - "2014 : The Election that Changed India" is written by
Options:

1) Rajdeep Sardesai

2) Aamer Hussein

3) Abdul Haq

4) Tarun Vijay

Correct Answer: Rajdeep Sardesai

QID : 477 - Who among the following has received Dhyan Chand Award in August
201772

Options:

1) Cheteshwar Pujara

2) Sardar Singh

3) Syed Shahid Hakim

4) Arokia Rajiv

Correct Answer: Syed Shahid Hakim

QID : 478 - Which of the following city has been included in UNESCO'’s creative cities
network for contribution in music?
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Options:

1) Chennai

2) Pune

3) Kolkata

4) Bengaluru

Correct Answer: Chennai

QID : 479 - Which of the following countries have established new two-by-two
ministerial dialogue in August 2017 for maintaining peace?

Options:

1) India and Russia

2) India and China

3) India and USA

4) India and Japan

Correct Answer: India and USA

QID : 480 - India and its which neighbouring country will conduct joint tiger census using
a globally recognized method for the first time?

Options:

1) Myanmar

2) Sri Lanka

3) Nepal

4) Bangladesh

Correct Answer: Nepal

QID : 481 - Which of the following is an operating system?
l. Ubuntu

[l. Linux

1. Unix

Options:

1) Only |

2) Only Il and llI

3) All'l, Iand 1

4) No option is correct.

Correct Answer: All I, Il and IlI
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QID : 482 - Which of the following is NOT a logic gate?
Options:

1) AND

2) OR

3) NAND

4) All are logic gates

Correct Answer: All are logic gates

QID : 483 - In a reaction, what is the loss of hydrogen by substance called as?
Options:

1) Reduction

2) Oxidation

3) Hydronization

4) Both reduction and hydronization

Correct Answer: Oxidation

QID : 484 - Which of the following statement(s) is/are CORRECT?
l. Metallic oxides are said to be basic oxides.

II. Non-metallic oxides are basic in nature.

[ll. All acids have similar chemical properties.

Options:

1) Only I and 1l

2) Only Il and llI

3) Only I

4) All statements are correct.

Correct Answer: Only | and IlI

QID : 485 - Which of the following is an example of colloidal solution of liquid in solid?
Options:

1) Mud

2) Milk

3) Cheese

4) Rubber

Correct Answer: Cheese

QID : 486 - Hydrogen chloride is
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Options:

1) diatomic

2) triatomic

3) poly-atomic

4) No option is correct.
Correct Answer: diatomic

QID : 487 - Which of the following occurs due to refraction?

|. The apparent displacement of a pencil, partly immersed in water.
[I. Sun appears before the sunrise.

lll. Sky appears blue.

Options:

1) Only I and Il

2) Only I and IlI

3) Only Il and IlI

4) All statements are correct.

Correct Answer: Only | and Il

QID : 488 - What will be equivalent resistance of two resistors R1 and R2 when
connected in series?

Options:

1) R1-R2

2)R1 + R2
3) (R2 + R1)/R1 R2

4) (2R1 R2)/R1 + R2
Correct Answer: R1 + R2

QID : 489 - The phenomena of electromagnetic induction is

Options:

1) the process of charging a body.

2) the process of generating magnetic field due to a current passing through a coil.

3) induced current in a coil due to relative motion between a magnet and the coil.

4) the process of rotating a coil of an electric motor.

Correct Answer: induced current in a coil due to relative motion between a magnet and
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the caoil.

QID : 490 - Light waves are

Options:

1) electric waves

2) magnetic waves

3) electromagnetic waves

4) No option is correct.

Correct Answer: electromagnetic waves

QID : 491 - Which disease is caused by deficiency of Vitamin D?
Options:

1) Polio

2) Rickets

3) Scurvy

4) Goitre

Correct Answer: Rickets

QID : 492 - During exhalation, the ribs
Options:

1) move outwards

2) move downwards

3) move upwards

4) do not move at all

Correct Answer: move downwards

QID : 493 - On an average how many million Red Blood Cells are present in a healthy
human adult man per mma3 of blood?

Options:

1)5-55

2)2-25

3)15-2

4)9-95

Correct Answer: 5-5.5

QID : 494 - By which process, a tadpole develops into an adult frog?
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Options:

1) Fertilisation

2) Metamorphosis

3) Embedding

4) Budding

Correct Answer: Metamorphosis

QID : 495 - Which of the following gets activated upon illumination and generates
electrical signal?

Options:

1) Light sensitive cell

2) Optic nerve

3) Ciliary muscles

4) Vitreous humour

Correct Answer: Light sensitive cell

QID : 496 - Which among the following constitutes the central nervous system in human
body?

Options:

1) Only blood

2) Only brain

3) Only spinal cord

4) Both brain and spinal cord

Correct Answer: Both brain and spinal cord

QID : 497 - In 1956, Minamata disease was caused by which type of pollution?
Options:

1) Air pollution

2) Water pollution

3) Noise pollution

4) Solil pollution

Correct Answer: Water pollution

QID : 498 - Which of the following is the best solution to get rid of non-biodegradable
wastes?
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Options:

1) Dumping

2) Burning

3) Recycling

4) Burying

Correct Answer: Recycling

QID : 499 - In which condition, tree is most vulnerable to die?
Options:

1) During loss of its bark

2) During loss of its all leaves

3) During loss of half of branches

4) During loss of half of leaves

Correct Answer: During loss of its all leaves

QID : 500 - Taiga is an example of which type of ecosystem?
Options:

1) Grassland ecosystem

2) Forest ecosystem

3) Tundra ecosystem

4) Desert ecosystem

Correct Answer: Forest ecosystem
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